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Unit 1B Review
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Write an equation and solve the following word problems

7. Last week Julian ran 30 miles more than Ben. Julia ran 45 miles. How many

milesdid Benrun? ) = B+ 30 J=4%
- 5= — :
5= B+30 ,‘;,*0 B*Z,?g \Ben ran 15 miles
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8. Last Friday Adam had $22.33. Over the weekend he received some money for
chores. He now has $32. How much money did he receive?

-32] 22,33 + R =32 ' veceived
,Z.};.?.’?*R ~27.33 -22.33 Ho\ag\qu.]

9. Amanda and her sister found $52.78 while cleaning out the garage. If they split
the money evenly, how much will Amanda have?
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Solve the following two-step equations.
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Solve the following multi-step equations. Keep an eye out for no solution and all
real numbers.
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Solve the following multi-step equations. Keep an eye out for no solution and all
real numbers.
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Write an equation to model each situation. Then solve the equation.

23. A plumber finished three jobs on Tuesday. The first two only cost the owner
the $45 trip fee because they took very little time to complete. For the third

job, the plumber charged the trip fee plus 6 times his hourly rate. If the
plumber received a total of $303 for the day, what is the hourly rate?

US+US+US+ bx =303
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24. Angela ate at the same restaurant four times. Each time she ordered a salad and
left a $5 tip. She spent a total of $54. Write and s n equation to find the

cost of each salad. _ 8 1_5) -5 q’
4(s+5) =54 Us+24 =54
-20 -20 S=# X.SQ
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25. Jeremy is looking at two different lawncare companies to weed and mulch his
flowerbeds. Greenscape Lawncare offers to charge $100 for the mulch plus

$12 per hr for the labor. D & ] Landscape offers to charge $23 per hr for the
job including the mulch. What is the minimum number of hours the job could

be for D & J Landscape to offer the better deal? — 2 gx

100 +1|
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Solve the following literal equations for the desired variable.

Solve each equation for y.

26.y+5£=6 27. N3y =2x-8_ 28. 5y + 10£=5
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Solve each equation for p.
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. Alarge box shaped like a rectangular prism needs to be painted.
[, width w, and

‘ Wnte a formula for the area A to paint in terms of leng

b. Rewrite the formula ts find in terms of 4, , and w.

$36in,wis28in. and Ais 6112 ‘ is the length of the prism?



Solve and Graph the following Inequalities.
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Solve and graph the following inequalities.
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Write the inequality for the following graphs
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Check to see if x = —2 is a solution to the following inequalities.

54. -3x =5 55. 2x+10 < -2 56, -5 <x <10
-3(-2) 25 2(-2)+10 ¢ -2 54 -2410
L>5 ~4 +10 ¢ 2
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Check to see if x = 5 is a solution to the following inequalities.

57.%<5 58. 2x +5< —10x — 3 59. x > 4orx < —10
2(s)+5 < -10(s)-3 554 5« -10
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Circle t!e error in the following problems and then explain what should happen to
get to the correct answer.
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Write, solve, and graph the inequalities for the following word problems.

62. A student had $45 when she went to the mall. She spent $9 on a pair of earrings. Then
she wants to buy some CDs that cost $12 each. Write and solve an inequality to determine
how many CDs she can buy.
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63. A friend needs at least $125 to go on the class trip. He has saved $45. He makes $20 for
each lawn he mows. Write and solve an inequality to determine how many lawns he needs
to mow to go on the trip.

+20m = 125
Us + 20 m > 125 | *;g -ys

%m 2> %0
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64. You have earned 85, 92, 95, and 88 on tests this grading period. You have one last test
and want an average of at least 90. Write and solve an inequality to determine what scores

you can earn to achieve your goal.

35 +41.+45 138 X > 90
5




